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1. (b)

Purse Cloths

I. ×           II.  ×       III. 
2. (c) Take 'I' and II

6   4   2

6   1   3

1   4

3. (c)

4. (a) 27th April  Thursday

Now, number of days
between 27th april and 20th

october = 3 + 31 + 30 + 31 +
31 + 30 + 20 = 176

Now, 
176
14

36
35

7

1

25

5. (a) Depression is a mood
disorder, while Insomnia is
a sleep disorder.

6. (a) 5. Fraud

2. Freedom

1. Freeze

6. Fringe

4. Frozen

3. Fryer

7. (b)

8. (a) 175 -25 ÷ 5 + 20 x 3 + 10 =?

By interchanging given signs

= 175 ÷ 25 + 5 x 20-3 × 10

= 7+100-30 = 77

9. (d)

10. (d)

11. (d)mcbbcm/mcbbcm/mcbbcm

12. (d)

    

125, 129, 120, 136, 111, 147, 98

+4 –9 +16 –25 +36 –49
+(2)

2
–(3)

2
+(4)

2
–(5)

2
+(6)

2
–(7)

2

13. (d)Here, Logic:-92 - 1 = 80

                               93 + 1 = 730

           Similarly,   72 - 1 = 48

                              73 + 1 = 344

14. (b)  ATQ, R<P<Q -----(1)

R<S -----(2)

From (1) and (2)
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= R is shortest.

15. (b) except(b) all the are the
places where worship is
offered.

16. (b)

17. (b) M N

Q R 

S 

P O

4

2.5

3.5

4

2.5

10

18. (a) 

19. (b)

 
MPS     NQT     ORU    PSV    QTW   RUX

+1 +1 +1 +1 +1

20. (a)

So, A is sister-in-law of D.

21. (d) RAT = 18 + 1 + 20 = 39

TRANCE = 20 + 18 + 1 + 14
+ 3 + 5 = 60

Similarly, CROWN = 3 + 18 +
15 + 23 + 14 = 73

22. (b) ATQ,

= 50 + 19 - (36 ÷ 2) × 3 + 15 +
(10 ÷ 5)

= 69 - 18 x 3 + 15 + 2 = 32

23. (b)

24. (b)  

25. (d)

B-GENERAL AWARENESS

26. (a) Bahlol Lodhi was the

founder of the Lodhi

dynasty, establishing it in

1451 after overthrowing

the Sayyid dynasty,

Ibrahim Lodhi was its last

ruler who was overthrown

by Babur in 1st battle of

Panipat 1526./cgyksy yks/h
yks/h oa'k ds laLFkkid Fks] ftUgksaus
lSÕ;n oa'k dks m•kM+ iQsadus ds ckn
1451 esa bls LFkkfir fd;k] bczkfge
yks/h blds vafre 'kkld Fks ftUgsa
ckcj us 1526 esa ikuhir dh igyh
yM+kbZ esa m•kM+ iQsadk FkkA

27. (d) In the landmark Minerva

Mills v. Union of India case

(1980), the Supreme Court

clarified the basic structure

doctrine, ruling that

Parliament's power to

amend the Constitution is

not absolute and cannot

destroy its fundamental

features, including judicial

review, or fundamental

rights./,sfrgkfld feuokZ feYl
cuke Hkkjr la?k ekeys (1980) esa]
lokZsPp U;k;ky; us ewy lajpuk fl¼kar
dks Li"V djrs gq, iQSlyk lquk;k fd
lafo/ku esa la'kks/u djus dh laln
dh 'kfDr fujis{k ugha gS vkSj og
U;kf;d leh{kk ;k ekSfyd vf/dkjksa
lfgr bldh ekSfyd fo'ks"krkvksa dks
u"V ugha dj ldrh gSA

28. (a) “Alarippu" is a traditional

dance piece performed as

the opening item in

Bharatanatyam./"vykfjIiq"
HkjrukVÔe esa 'kq#vkrh vkbVe ds
:i esa fd;k tkus okyk ,d ikjaifjd
u`R; gSA

29. (c) The GDP of a country can

be calculated in three

ways:/fdlh ns'k dh thMhih dh
x.kuk rhu rjhdksa ls dh tk ldrh
gS%

i. P r o d u c t i o n / o u t p u t

Method/mRiknu@mRiknu fof/

ii. Income Method/vk; fof/

iii. Expenditure Method/O;;
fof/
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30. (a) The Labrador Current is a

cold ocean current, while the

Gulf Stream, El Niño

current, and Kuroshio

Current are warm ocean

currents./ySczkMksj /kjk ,d BaMh
egklkxjh; /kjk gS] tcfd xYiQ LVªhe]
,y uhuks /kjk vkSj dqjksf'k;ks /kjk xeZ
egklkxjh; /kjk,¡ gSaA

31. (d) The match is divided into

two periods of 3 minutes

each. There is a 30-second

break between the two

periods. Points are awarded

throughout the match, and

the winner is determined

either by accumulating more

points or by pinning the

opponent./eSp dks 3 feuV dh
nks vof/;ksa esa foHkkftr fd;k tkrk
gSA nks vof/;ksa ds chp 30 lsdaM dk
czsd gksrk gSA iwjs eSp ds nkSjku vad
fn, tkrs gSa] vkSj fotsrk dk fu/kZj.k
;k rks vf/d vad tek djds ;k
çfr}a}h dks fiu djds fd;k tkrk gSA

32. (b) The Wimbledon Trophy is

played in London, England

at the All England Club. It

is one of the four Grand

Slam tennis tournaments./

foacyMu VªkWiQh yanu] baXySaM esa vkWy
baXySaM Dyc esa •syh tkrh gSA ;g pkj
xzSaM LySe Vsful VwukZesaVksa esa ls ,d gSA

33. (a) Kargil Vijay Diwas is

celebrated every year on

26th July to commemorate

India's victory in the Kargil

War of 1999, when the

Indian Army successfully

reclaimed the territory

captured by Pakistani forces

in the Kargil region of

Jammu and Kashmir./

dkjfxy fot; fnol gj lky 26
tqykbZ dks 1999 ds dkjfxy ;q¼ esa
Hkkjr dh thr ds miy{; esa euk;k
tkrk gS] tc Hkkjrh; lsuk us tEew vkSj
d'ehj ds dkjfxy {ks=k esa ikfdLrkuh

lsuk }kjk dCtk fd, x, {ks=k dks
liQyrkiwoZd iqu% çkIr fd;k FkkA

34. (a) Lord Linlithgow was the

Governor-General of India

when Gandhiji launched

the 'Quit India Movement'

in 1942./tc xka/hth us 1942
esa ̂ Hkkjr NksM+ks vkanksyu* 'kq: fd;k
Fkk] rc ykWMZ fyufyFkxks Hkkjr ds
xouZj&tujy FksA

35. (c) Article 17 of the Indian

Constitution abolishes

untouchability and

prohibits its practice in

any form. It is a

fundamental right that

ensures equality and social

justice./Hkkjrh; lafo/ku dk
vuqPNsn 17 vLì';rk dks lekIr
djrk gS vkSj fdlh Hkh :i esa blds
vH;kl ij jksd yxkrk gSA ;g ,d
ekSfyd vf/dkj gS tks lekurk vkSj
lkekftd U;k; lqfuf'pr djrk gSaA

36. (b) The Lakshadweep

Archipelago in India has a

coral origin, consisting of

36 islands formed from

coral reefs and atolls in the

Arabian Sea./Hkkjr esa y{k}hi
}hilewg dk ewy çoky gS] ftlesa
vjc lkxj esa çoky fHkfÙk;ksa vkSj
,Vksy ls cus 36 }hi 'kkfey gSaA

37. (a) Mrinalini Sarabhai was a

renowned exponent of

Bharatanatyam and

Kathakali./e`.kkfyuh lkjkHkkbZ
HkjrukVÔe vkSj dFkdyh dh çfl¼
çfriknd FkhaA

38. (d) Dhanpat Rai Srivastava is

better known by his pen

name Premchand. He was

a famous Hindi and Urdu

writer, known for his

novels, short stories, and

social realism.//uir jk;
JhokLro vius dye uke çsepan
ls csgrj tkus tkrs gSaA os fganh vkSj
mnZw ds çfl¼ ys•d Fks] tks vius

miU;klksa] y?kq dFkkvksa vkSj lkekftd
;FkkFkZokn ds fy, tkus tkrs FksA

39. (d) Subhash Chandra Bose is

the author of the book 'The

Indian Struggle' (1935). The

book discusses the history

of India's struggle for

independence from British

rule and provides insights

into his perspective on the

political and social

challenges of the time./lqHkk"k
paæ cksl ̂ n bafM;u LVªxy* (1935)
iqLrd ds ys•d gSaA iqLrd esa fczfV'k
'kklu ls Lora=krk ds fy, Hkkjr ds
la?k"kZ ds bfrgkl ij ppkZ dh xbZ gS
vkSj ml le; dh jktuhfrd vkSj
lkekftd pqukSfr;ksa ij muds ǹf"Vdks.k
dh varnZ̀f"V çnku dh xbZ gSA

40. (b) The Palghat Gap is a

natural break in the

Western Ghats mountain

range, located between the

Kerala and Tamil Nadu

states in southern India. It

serves as an important

corridor for the movement

of animals, people and

goods between these two

states./iky?kkV xSi if'peh ?kkV
ioZr J̀a•yk esa ,d çkÑfrd njkj gS]
tks nf{k.k Hkkjr esa dsjy vkSj rfeyukMq
jkT;ksa ds chp fLFkr gS ;g bu nks
jkT;ksa ds chp tkuojksa] yksxksa vkSj lkekuksa
dh vkoktkgh ds fy, ,d egRoiw.kZ
xfy;kjs ds :i esa dk;Z djrk gSA

41. (c) Mumbai-Pune Expressway

is India's 1st six-lane high-

speed track. It handles over

43000 vehicles a day. It is

about 94.5 Km long. It is

fully operational since

2002./eqacbZ&iq.ks ,Dlçslos Hkkjr
dk igyk Ng ysu okyk gkbZ&LihM
VªSd gSA ;g çfrfnu 43000 ls vf/
d okguksa dks laHkkyrk gSA ;g yxHkx
94-5 fdeh yack gSA ;g 2002 ls
iwjh rjg ls pkyw gSA
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42. (d) RC Dutt (Ramesh Chandra

Dutt) was the author of the

famous book 'The Economic

History of India', which

provides a detailed account

of the economic conditions

in India during British

rule./vkjlh nÙk (jes'k paæ nÙk)
çfl¼ iqLrd ^n bdksukWfed fgLVªh
vkWiQ bafM;k* ds ys•d Fks] tks fczfV'k
'kklu ds nkSjku Hkkjr esa vkfFkZd fLFkfr;ksa
dk foLr̀r fooj.k çnku djrh gSA

43. (c) Mysore Dussehra is a

grand festival celebrated in

the state of Karnataka,

particularly in the city of

Mysore. It features royal

processions, cultural

programs, and displays of

decorated elephants,

marking the victory of good

over evil./eSlwj n'kgjk dukZVd
jkT; esa fo'ks"k :i ls eSlwj 'kgj esa
euk;k tkus okyk ,d HkO; R;ksgkj
gSA blesa 'kkgh tqywl] lkaLÑfrd
dk;ZØe vkSj lts&/ts gkfFk;ksa dk
çn'kZu gksrk gS] tks cqjkbZ ij vPNkbZ
dh thr dk çrhd gSA

44. (d) Dashain is the most

important festival

celebrated in Nepal. It is a

Hindu festival that lasts for

15 days and marks the

victory of good over evil,

similar to Dussehra in

India. It is a time for family

gatherings, worship, and

the giving of blessings./n'kbZa
usiky esa euk;k tkus okyk lcls
egRoiw.kZ R;ksgkj gSA ;g ,d fganw
R;kSgkj gS tks 15 fnuksa rd pyrk gS
vkSj cqjkbZ ij vPNkbZ dh thr dk
çrhd gS] Hkkjr esa n'kgjk ds lekuA
;g ikfjokfjd lekjksgksa] iwtk vkSj
vk'khokZn nsus dk le; gSA

45. (d) The Atal Tunnel, also

known as the Rohtang

Tunnel, connects Manali to

the Lahaul-Spiti Valley in

Himachal Pradesh. It is the

world's longest highway

tunnel above 10,000 feet

and significantly reduces

travel time between Manali

and Leh./vVy lqjax] ftls jksgrkax
lqjax ds :i esa Hkh tkuk tkrk gS]
eukyh dk s fgekpy çns'k es a
ykgkSy&Lihfr ?kkVh ls tksM+rh gSA ;g
10]000 iQhV ls Åij nqfu;k dh
lcls yach jktekxZ lqjax gS vkSj eukyh
vkSj ysg ds chp ;k=kk ds le; dks
dkiQh de djrh gS

46. (b) Praveen Sood, an Indian

Police Service (IPS) officer

from the 1986 batch

(Karnataka cadre), is

currently serving as the

Director of the CBI./1986 cSp
(dukZVd dSMj) ds Hkkjrh; iqfyl
lsok (IPS) vf/dkjh çoh.k lwn
orZeku esa CBI ds funs'kd ds :i
esa dk;Zjr gSaA

47. (c) Sudan has been

experiencing ongoing civil

conflict that has led to the

displacement of millions of

people to the neighbouring

countries./lwMku esa py jgs x`g
la?k"kZ ds dkj.k yk•ksa yksxksa dks iM+kslh
ns'kksa esa tkuk iM+k gSA

48. (d) Engines for Tejas fighter is

being manufactured by

General Electrics (USA).

First engine being delivered

in March 2025./rstl yM+kdw
foekuksa ds fy, batu dk fuekZ.k tujy
bysfDVªDl (USA) }kjk fd;k tk
jgk gSA igyk batu ekpZ 2025 esa
fMyhoj fd;k x;kA

49. (c) In 2025, the Abel Prize

(Nobel Prize of

Mathematics) was awarded

to Masaki Kashiwara, a

Japanese mathematician.

He was recognized for his

"fundamental contrib-

utions to algebraic analysis

and representation theory,

in particular the

development of the theory

of D-modules and the

discovery of crystal

bases."/2025 esa] ,csy iqjLdkj
(xf.kr dk ukscsy iqjLdkj) tkikuh
xf.krK elkdh dk'khokjk dks fn;k
x;kA mUgsa "chtxf.krh; fo'ys"k.k vkSj
çfrfufèkRo fl¼kar esa ekSfyd ;ksxnku]
fo'ks"k :i ls Mh&ekWMÔwy ds fl¼kar
ds fodkl vkSj fØLVy csl dh •kst"

ds fy, ekU;rk nh xbZA
50. (a) The Chenab Rail Bridge is

the highest railway bridge in

the world, built over the

Chenab River in Jammu and

Kashmir. It is part of the

Udhampur–Sr inagar–

Baramulla Rail Link

(USBRL) project and stands

at a height of 359 metres

(1,178 feet) above the river,

making it higher than the

Eiffel Tower./psukc jsy fczt nqfu;k
dk lcls Åapk jsyos fczt gS] tks tEew
vkSj d'ehj esa psukc unh ij cuk gSA
;g m/eiqj&Jhuxj&ckjkeqYyk jsy fyad
(;w,lchvkj,y) ifj;kstuk dk fgLlk
gS vkSj unh ls 359 ehVj (1]178
iQhV) dh ÅapkbZ ij fLFkr gS] tks bls
,fiQy VkWoj ls Hkh Åapk cukrk gS

gSAgS C - QUANTITATIVE APTITUDE

51.(c) ATQ,  (100-18) units = 1599

 100 units = 
1599

82
×100

= 1950

 Marked Price of book

 = ` 1950

52.(a) tan
2


 + cot

2



= tan
2


 + 

1

tan
2


 = 

tan ²θ+1

θ
tan

2

= 
2sec ²θ

θ
2tan

2

 = 
2

sinθ
 = 2 cosec
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53.(a) D

E F
45º

2 sin F× cot F

= 2sin45º× cot 45º

= 2×
1

2
×1 = 2

54.(b) Quantity of oil in the present
mixture

=  
3

1920 720ml
8

Quantity of oil to be present
in the required mixture

7
= ×1920 = 1680 ml 

8

Thus, excess oil required =
1680 - 720 = 960 ml.

55.(b) Let the principles invested be
Rs 'x' and Rs 'y'.

Let the rate of interest = r%.

Time periods are in the ratio
4:5.

Let them be 4t and 5t years
respectively.

Given, Ratio of interest
earned = 5 : 4

xr4t yr5t
:   5 : 4

100 100

   
  

  

 
4x 5

5y 4

 x : y  = 25  :16

56.(c) The highest number of novel
reader who read only one
magazine a week is 12300
and this is in case of city E.

As 18% of total readers
=2700

 82% of total =

2700
×82=12300 (For city E) 

18

Similarly, For city A who
read only one novel a week
= 5500

For city B who read only one
novel a week = 2700

For city C who read only one
novel a week = 9100

For city D who read only one
novel a week = 3200

57. (b)Let the C.P of article = 100

then S.P = 120

ATQ,

120% = 1500

100% = 
1500

120
×100

CP = 1250

SP of the new article

= 1250×
125

100
=1250×

5

4

=
6250

4
= 1562.5

Total profit= 1562.5 + 1500
– 1250 – 1250 = 562.5

58. (a) A + 6

B + 8

C – 12

24

4
+

3

2

+

–

In 3 hours = (4+3–2)×3=5×3=15

Remaining = 24 – 15 = 9

B & C will fill = 
9

(3 – 2)
=

9

1
=9

59. (a) ATQ,

12
6 t –

60

 
    = 

10
4 t

60

 
   

3
12

t –
60

 
   = 2

10
t

60

 
  

3t –
36

60
=  2t + 

20

60

t = 
56

60
 Hrs

Distance = 
56 12

6 –
60 60

 
   

=
44

6
60

 = 
22

5
 km

Speed =
22 15

5 14




 = 4

5

7
 km /hr.

60. (b)5% = 
1

20
, 4% =

1

25

1st year - 20 : 21

2nd year- 25 : 24

             125 : 126

ATQ,

126 units = 55,12,248

125 units = 
5512248

126
×125

                 = 43748×125

                 = 54,68,500

61. (a) Let the side of square = a

length (l) of rectangle = a+10

breadth(b) of rectangle = a–8

Area of rectangle = Area of
square

(a+10) (a–8) = a2

a2 + 2a – 80 = a2

2a = 80

a = 40

Perimeter of rectangle

= 2[a+10+a –8]

= 2[2a+2] = 2[2×40+2]

= 2×82 = 164

62. (d)Total work done A, B, C =
(5+6+9)×18 = 20×18 = 360

B can alone 25% of that work

= 
360

6
×

25

100
= 15

63. (d)Let the no. of cones = x

Volume of cylinder

= x × volume of 1 cone

2
1 1r h = x× 

1

3
 2

2 2r h

3×(3)2×4 = x ×(1)2 ×2

27 ×2 = x

x = 54

64. (b)p = 3 9

p = 27 = 3 3

6, p , 4, x are in proportional

So, 6, 3 3 , 4 , x

6

3 3
=

4

x

x = 2 3
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65. (d)14–20×[7–{18÷2 of 3–(15 –25 ÷
5 ×4)}]

= 14 – 20×[7–{18÷6–(15 – 5×4)]
= 14 – 20×[7–{3–(15– 5×4)]
= 14 – 20×[7–{3–(15–20)}]
= 14 – 20×[7–{3+5}]
= 14 – 20×(7–8)
= 14 – 20×(–1)
= 14 + 20 = 34

66. (c) (2827.06 – CP)= (CP – 2230)

× 
114

100

2827.06 × 50 – 50 CP = 57CP
– 127110
141353.00 + 127110 = (50+57)
CP
107 CP = 268463

CP = 
268463

107

CP = 2509
% gain of 14% S.P will be

= 2509 × 
114

100

= 
286026

100
= 2860.26

67. (b)The sum of 10 items = 89
×10 = 890
the average cost of remaining
9 items

=  
890 – 35

9
= 

855

9
= 95

68. (b)  Let the no. is x & y
Product of both no. =
LCM×HCF
6750 = 450 × HCF

HCF = 
675

45
= 15

then no. x & x+15
(x) (x + 15) = 6750
x2 + 15x – 6750 = 0
x2 + (90–75x) – 6750 = 0
x = – 90 (Wrong)
x = 75 (Right)

69. (a)

X Y

B C

A

Let, XY = a
Then, BC = 2a (By Midpoint

Theorem)
ATQ,
2a + a = 24 cm
3a = 24 cm
a = 8 cm
So, XY = 8 cm
 BC = 16 cm
Required Difference = (16 – 8)cm

      = 8 cm
70. (b) Quantity of copper in 14 kg

of 1st alloy = 
3

7
 ×14 = 6 kg

Quantity of Gold in 14 kg of
1st alloy = 14 – 6 = 8 kg
Quantity of copper in 21 kg

of 2nd alloy  = 
2

7
× 21 = 6 kg

Quantity of Gold in 21 kg of
2nd alloy =  21 – 6 = 15
Quantity of copper in the
mixed alloy = 6 + 6 = 12
And the quantity of gold in
the mixed alloy = 8 + 15 = 23
Then ratio of the copper and
gold = 12 : 23

71. (b) A = P 
2

R
1

100

 
  

       =  900 × 

2
10

1
100

 
  

 =  900 × 
11 11

10 10
 = 1089

72. (c) One of the Factor of 88 is 11.
According to Divisibility of 11.
(6 +1+ x + 8) – (9 + 3 + 0) = 0/
11.

 15 + x – 12 = 0/11
 3 + x = 0/11
 Either, 3 + x = 0 (not possible

x  can not be negative) or,

3 + x = 11
 x = 8

73. (a) Given, (1 + tan2)(1 + cot2)
sin2cos

  =

2 2

2 2

sin cos
1 1

cos sin

    
        

sin2 cos2

   
 

2 2 2 2 2 2

2 2

cos sin sin cos sin cos

sin cos

       




 
 



2 21   sin cos )1(    

74. (d) Let, PA = a
We know that,

PT2 = PA x PB

2 6( )6 6  a 3 

a = 6

So, AB = PB - PA
AB = 36 - 6 = 30 cm

75. (c) Interest After 1 year

50000 10
=5000

100




So, Total amount after 1st
year = 55000

At the end of 1st  year, he
pays Rs.25,000 as part
payment of the loan

 Amount left at the end of 1st
year = 55000 – 25000 = 30000
So, Amount due after 2 years

30000 11
33000

10


 

D-ENGLISH COMPREHENSION

76. (d) Symphony refers to a

harmonious arrangement

of sounds, particularly in

music, making it the

correct one-word

substitute for "consonance

of sounds" (Lojksa dk esy)

Troupe (dykdkjksa dk lewg)

refers to a group of

performers, especially

actors or dancers.

77. (b) Jumped at the

opportunity means to

eagerly seize a chance (ekSds
dk rqjar iQk;nk mBkuk)

78. (d) The incorrectly spelled

word is “Supremecy”. The

correct spelling is

“Supremacy” (lokZsPprk),

which means the state of

being superior to others.

Other correctly spelt words :

Passage (jkLrk @ vuqPNsn)

means a way through
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something or a section of

text.

Reconsidered (fiQj ls fopkj

fd;k x;k) means thought

about again, especially with

the possibility of change.

Prevention (jksdFkke) means

the action of stopping

something from happening.

79. (a) The correct phrase should

be “utilise the little

money”.

“The little” (tks Hkh FkksM+k gS)
means all that is available,

which fits the context of

using the only money one

has wisely.

80. (d) will they

If the main sentence is

negative (“They will not

go...”), the question tag

must be positive (“will

they?”).

81. (d) ”Keep up with” means to

move at the same speed as

someone or something

(fdlh ds lkFk xfr cuk, j•uk)

Incorrect options:

“Put up with” (lgu djuk)

means to tolerate.

“Make up to” (ekiQh ekaxuk

;k •q'k djuk) means to

compensate or please

someone.

“Hold on to” (fdlh pht dks

etcwrh ls idM+uk) means to

grasp something firmly.

82. (b) Emeritus refers to

someone who has retired

but retains their title as an

honor (lEekuiwoZd lsok ls

fjVk;j gqvk O;fDr)

Incorrect options:

• Belligerent (>xM+kyw) refers

to someone who is

aggressive or engaged in

war.

• Truant (dkepksj @ xSjgkftj

jgus okyk) refers to a person

who stays away from duty,

especially a student

skipping school.

• Mercenary (iSls ds fy, yM+us

okyk l S fud) refers to a

person who works for

money, especially a soldier

hired to serve in a foreign

army.

83. (a) Obliterate means to

completely destroy or wipe

out, leaving no trace (iwjh

rjg feVk nsuk) Similarly,

Extirpate means to root

out or eliminate completely,

often in a forceful manner

(tM+ ls •Re dj nsuk)

Hansom means a two-

wheeled horse-drawn

carriage used in the past

(?kksM+kxkM+h)

Establish means to set up

or create something,

especially a system or

organization (cukuk ;k LFkkfir

djuk)

Epistle means a formal or

literary letter, often used in

a religious context

(vkSipkfjd fpêòh)

84. (a) Devolve means to transfer

or pass down duties,

responsibilities, or power

to someone else. Similarly,

Delegate means to assign

or entrust a task or

responsibility to another

person (fdlh dke ;k

ftEesnkjh dks lkSaiuk)

Centralize means to bring

under one authority or

control (dsafær djuk)

Retain means to keep or

hold onto something (cuk,

j•uk)

Incline means to lean or

tend toward something

(>qdko gksuk)

85. (b) Pensive (xaHkhj lksp esa Mwck

g qvk)  means deeply

thoughtful, often in a

serious or melancholic

way. Its opposite is

Unreflective (fcuk

lksps&le>s), which means

not thinking deeply or not

considering things

carefullyd

Frivolous (gYdk&iQqYdk ;k

xSj&xaHkhj) means lacking

seriousness or being

carefreed

Hollow (•ks•yk) means

empty or lacking

substanced

Goofy (ew•Zrkiw.kZ) means

silly or foolishd

86. (c) Incinerate (tykdj u"V

djuk)  means to burn

something completely,
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especially waste or dead

bodies. Its opposite is

Extinguish (cq>kuk), which

means to put out a fire or

stop something from

burning

Oxidise (t ax yxuk ;k

vkWDlhdj.k gksuk) means to

react with oxygen, usually

forming rust or corrosiond

Blaze (rsth ls tyuk) means

to burn brightly and

intenselyd

Combust (ngu gksuk) means

to catch fire and burnd

87. (b) The committee works

diligently to ensure fair and

unbiased decision. in the

given sentence the verb

“work” should be “works”

because “committee” is a

singular collective noun.

88. (a) The correct word should be

“less money”, as “less” is

used for uncountable

nouns like money.

“Little money” means

almost no money, which

does not fit the comparison.

89. (d) “At all levels”

“at” is used to indicate

different positions or

hierarchical stages (e.g., at

the national, state, and

local levels)d

90. (c) The correct sentence is:

The delicious aroma of

freshly baked cookies

wafted through the

kitchen, making mouths

water.

Correct spellings are :

Delicious (Lokfn"V), Aroma

(lqxa/), Freshly (rktk rjhds
ls), Cookies (fcLdqV) and

Wafted (iQSyuk).

91. (b) Active Voice: Subject

(“She”) + auxiliary verb

(“has”) + past participle

(“prepared”) + object (“the

desserts”).

Passive Voice: Subject

(“The desserts”) + auxiliary

verb (“have been”) + past

participle (“prepared”) +

agent (“by her”).

92. (c) The correct order is PSRQ.

P introduces the topic,

“Literature has existed in

the Americas for as long as

the people who lived there.”

S explains the tradition,

“Native American cultures

have been telling stories.”

R provides historical context,

“These cultures have a rich

history of oral literature.”

Q gives an example, “Mayan

books from as far back as

the 5th century are known.”

93. (c) The correct order is RQPS.

R introduces the topic, “The

First World War”

Q explains the cause, “It was

an unforeseen war that

resulted from a.”

P provides more details,

“series of calamities that

broke the delicate

arrangement of European

powers.”

S concludes with the impact.

94. (a) did they speak

Structure: Negative

Phrase + Auxiliary Verb +

Subject + Main Verb +

Rest of the Sentence

“Not a word” is a negative

phrase, requires auxiliary

“did” before the subject

“they.

95. (b) “Avoided” means to stay

away from something,

which matches the

meaning of “steered clear

of” (vyx jguk).

96. (a)

97. (d)

98. (a)

99. (b)

100.(a)

ANSWER KEY

1. (b)

2. (c)

3. (c)

4. (a)

5. (a)

6. (a)

7. (d)

8. (a)

9. (d)

10. (d)

11. (d)

12. (d)

13. (d)

14. (b)

15. (b)

16. (b)

17. (b)

18. (a)

19. (b)

20. (a)

21. (d)

22. (b)

23. (b)

24. (b)

25. (d)

26. (a)

27. (d)

28. (a)

29. (c)

30. (a)

31. (d)

32. (b)

33. (a)

34. (a)

35. (c)

36. (b)

37. (a)

38. (d)

39. (d)

40. (b)

41. (c)

42. (d)

43. (c)

44. (d)

45. (d)

46. (b)

47. (c)

48. (d)

49. (c)

50. (a)

51. (c)

52. (a)

53. (a)

54. (b)

55. (b)

56. (c)

57. (b)

58. (a)

59. (a)

60. (b)

61. (a)

62. (d)

63. (d)

64. (b)

65. (d)

66. (c)

67. (b)

68. (b)

69. (a)

70. (b)

71. (b)

72. (c)

73. (a)

74. (d)

75. (c)

76. (d)

77. (b)

78. (d)

79. (a)

80. (d)

81. (d)

82. (b)

83. (a)

84. (a)

85. (b)

86. (c)

87. (b)

88. (a)

89. (d)

90. (c)

91. (b)

92. (c)

93. (c)

94. (a)

95. (b)

96. (a)

97. (d)

98. (a)

99. (b)

100.(a)


